‘Buipunol 01 anp sfejo} 01 dn ppe jou Aew sainbi4

gevo'zt| Tvor | zo | €0 | 9s | vz |[8se | v9 | goz |988 |vor |vvor| e 69 |v6e9TT|2698 |97T95'0 |TVT9T |L€22'T [28T6 |z0TZ | veer | 9T |[zze | o 0Tz Go-1dy
gotezt| evor | zo | €0 | ss | vz |o9se | vo |voz |68 |vT2 |9vor| ger 69 |5er6TT|T698 |97259'0 |€€L9°T |2'99e'T [z 2v6 |T'GTZ | s82T | 9T |[s2e | o 012 G0-Te
ozev'et| ozov | zo | €0 | ss | vz |vse | vo |eoz |o088 |6T2 |z2oT| SEn 69 |6vzoeT|8'188 |£8v9'0 |S€zL'T|586E'T (8896 |T'€TZ | 608T | 9T |[82E | 9F 112 G0-go4
gss8'2t| 990ov | zo | €0 | ss | vz |ese | vo |zoz | 228 812 |z2or| e 69 |zisver|zvie |2T08'9 |2298°T |2 16V T [6766 |9Gez | 8ser | 9T |[sze | ov 112 G0-uer
gtoe'vT| osov | zo | €0 | ss | vz |zse | vo | Toz |28 |[STL |L99T| gen 69 |8968cT|z2L8 |0:889'L |€5ETE |v°029'T [Te0T'T |62 | €86T | 9T |82 | 9F 112 ¥0-290
gog0'zt| veee | zo | €0 | vs | vz |1se | vo | ooz |098 0oL |TE9T| SEn 69 |1899TT|0'S88 |€5L2'9 |S0ovL'T |670ev'T [ 2856 |zGTz | szer | 9T |[sze | ov 112 ¥0-AON
e1er'tT| voee | zo | €0 | vs | vz |eve | vo |61 |2¥8 |v29 |965T| Ser 69 |60v0TT|8 VY8 |2'806'S |6'529'T |S0SE'T [See6 |826T | TozT | 9T |[s82Ze | ov 112 70190
660e'TT| 618 | 20 | €0 | es | vz |zve | vo |61 |se8 |gs9 |evsT| e 69 |0886'0T|7'8e8 |0°556'S |8:995°T |9'9Te'T [9T€6 |5 TOZ | 6211 | 9T |[82E | 9% 112 y0-des
ozee'tr| 9826 | zo | €0 | es | vz |ove | vo |61 |928 |vvo |eest| e 69 |ovs6e0T|8'8e8 |L796'G |9109'T |€'652'T [€2T6 |8'66T |28TT | 9T |62 | 9F 112 y0-Bny
980'1T| 0226 | zo | €0 | 2zs | vz |vve | vo | 96T |28 |0v9 |9zsT| ser 69 |sotsot|zsrs |9T6L's |2 TG T |Tvee'T (2806 |8veT | THIT | 9T |[e2e | ov 112 y0-Ing
6'598°0T| 8526 | zo | €0 | 2zs | vz |eve | vo |g6T |228 |Tve |815T| Ser 69 |006v'0T|2vE8 |7'0L9'S |9 VST |6729T'T [v268 |T'86T | 99TT | 9T [o€e | ov 112 yo-ung
L8e6'0t| 09ze | zo | €0 | zs | vz |eve | vo | g6T |028 |9€9 |szst| ser 69 |ressot|zves |e€19's |T8vS'T |6'822'T [9266 |z96T | THIT | 9T |oee | or 112 70-Ken
0'908'0T| 9626 | zo | €0 | 1S | vz |tve | vo | €61 | 618 |6%€9 |L2ST| ver 69 |voev'or|vess |Teiv's |S59es'T |29gz'T (€956 |seoz | Tzt | 9T [oee | ov 112 y0-1dy
zeg'ot| 8626 | zo | €0 | 15 | vz |ove | vo |e6T | 818 |€59 |9ssT| ver 69 |v2050T|¥858 |06St's |0°246°T |T'ss2'T [8'886 |67002 | 080T | 2T |o€e | o 112 70-Te
gege'0T| eese | zo | €0 | 1S | vz |[sez | vo |e6T | 618 |29 |895T| veT 69 |z009'0T|¥'858 |L88€'S | ¥ TTO'T |T'82e'T [T620T |v'TTe | 82tT | 2T |o€e | ov 1T 0-0o4
geee'tt| Lese | zo | €0 | 1S | ve |zee | vo |eer | 918 |29 |89sT| ver 69 |Love0T|9€68 |vssi's |97289°T |seer'T [8280°T €612 | T6TT | 2T |o€e | o 112 y0-uer
g190'ct| 908 | zo | €0 | os | vz |o9ez | vo |eer |€18 |T29 |LSST| v 69 |zT189CT|2'868 |0°28€'0 |6°9€T'2 |T'TVO'T [6:002'T [0'0gz | €9zt | 2T [Tee | ov 112 £0-290
ozosot| zeoe | zo | €0 | os | vz |vee | vo |e81 |e6L [TV |68YT | veT 69 |seeeot|ress |r6T2's |6°569°T |2L62'T [2096 |v00z | 80T | 2T [Tee | ov 1T €0-AON
Leeeot| sooe | zo | €0 | 6v | vz |eee | vo |e8T |€8 |[6T9 |L¥wT| verT 69 |zeL6'6 |TOv8 |£680'S |2 2vS'T |v'892'T [€T€6 |6706T | 000T | 2T [TEe | o 1T £0-190
16566 | 09se | zo | €0 | 6v | vz |t1ee | vo |z8r |08 219 |STM0T| ven 69 |1€09'6 |00e8 |T26L |eSLv'T (67082 T [2T26 |88t | 266 | 2T [Tee | ov 112 €0-dos
6v66'6 | vvse | zo | €0 | 6v | vz |oee | vo | 98T |92z |09 |oTHT| VET 69 |s0v9'e |6Tz8 |67TE8'Y |L¥TIST |5 ez T [T688 |T'a8T | 266 | 2T [zee | ov 112 £0-bny
oer.'6 | 8ese | zo | €0 | 8v | vz |sze | vo |g8T |02 [v09 |zovT| verT 69 |806e6 |9L18 |9:899'7 |6:925°T |8°02T'T [6798 |v18T | 666 | 2T |zee | ov 112 €0-Ing
78856 | Lese | zo | €0 | 8v | vz |zze | vo |ver |89 [vo9 |ozvT| ver 69 |svez'e |026L |z08S'y |SeesT|L6vT'T (8668 |ST8T |26 | 2T |zee | ov 112 €o-ung
gger's | ovse | zo | €0 | v | vz |eze | vo | €81 |2or |oT9 |gevT| ver 69 |zT0'6 |9'882 |Lsee'y |vLsT|g Lot [0298 |zveT | TooT | 2T [eee | ov 112 €0-1e
9971t 0sse | zo | €0 | v | vz 812 | v9 |o8T |vse [6T9 |9vkT | veT 69 |92TT'TT|806. |T6EY'S |67296'T |S99V'T [8'€90'T [8'202 | 6STT | 2T |[vee | ov T2 20-28a
g1eL8 | ovee | zo | €0 | ov | vz |vie | vo |9ut |22 |s9s |seet| e 69 |zi6e'8 |z0eL |828'e 6867 T |L90T'T [vese |e9.T | 626 | 2T [see | ov e z0-des
vees's | goee | 2o | €0 | sv | vz |ote | vo | st |8TL |€9s [goeT | veT 69 |6720z'8 |8LeL |G2LL'e |€8LY'T |v'290'T [T828 |e69T | 288 | 2T |ree | L z1e zo-unp
Lsov'g | 66z | zo | €0 | sv | ve |zoe | vo |veir |81 |95 |vezT| €en 69 |8ser's |9€89 (6595 |v829°T |9°z80'T [v1s8 |ST.T | 606 | 2T |e€e | v e 20-1eN
gtecot| ovee | zo | €0 | vv | vz |[voe | vo |zt |9TL |€25 |sveT| TEr 69 |82500T|8vv. |0v2S'y |9+00C |ev8e'T [6'€v0T|T'68T | vSoT | 2T [Tve | L 4 10-290
11182 | vste | zo | €0 | ev | vz |[toe | vo |out | 289 |ves |sezr| zer 69 |eo6v's |€999 |g98T'e €Y' T |TT20'T [2ve8 |easT | €28 | 2T |eve | v e 10-dos
6197, | €61 | 2o | €0 | ev | sz [s61 | v9 | 691 |069 |0vs |89zT| zEr 69 |9erts |vev9 |8256'C |€9er'T |8'G00'T [8'€08 |6'€ST | v08 | 2T [sve | L €Tz T0-ung
sver', | esze | zo | €0 | ev | sz 961 | vo | 691 |eor |zos |96eT| TET 69 |ze69r's |8619 |L086T |vT6Y'T |eTIOT (2218 |ST9T |€ve | 2T |ve | v 71z 10-1e
1es1'6 | zeze | zo | €0 | ev | sz |ver | vo | zor | 869 |gss |zser| Ter 69 |sTes'8 |svL9 |6'80L' |06.8'T |z eve'T [8266 |679.T |T88 | 2T |ese | v v'1Z 00-290
Lroet's |ogoe | zo | €0 | ey | sz o6t | v9 | vor | 629 |ees |s1n| TET 69 |roes'9 |2009 |59TLT |2 TEr'T|8°066 [2TO8 |67TOT |0G9 | 2T [9se | v 71z 00-das
062.'9 |06z | zo | €0 | 1v | sz |[98r | v9 | €9t |09 605 |9t | ZEr 69 |ozev'o |919s |6'8Lv'e |9zLeT|s656 [682L |L25T |88s | 2T [To9e | 8w v'1Z 00-ung
9€92'9 | Teoe | zo | €0 | 1v | vz |est | vo | €9t | 189 [8es |Ttvir| zer 69 |sTov'o |8'89s |809v'z |TT6ET|TGS6 [9T08 |ovor | Tss | 2T |oze | 8v g1z 00-Ten
€oe1'6 | 6€1e | 20 | €0 |ov | gz |[t1er | v9 |eor |ve9 |8ss |Tzer| Ter 1’9 |vzes's |0egy |T8se'e |50T02 |Seve'T [9:860'T[9°96T |69 | 2T [T6E | 6% 5Tz 66-290
v0.9'0 | z2zz | 2o | eo | ov | sz |zt | vo | zot |e9 |ves 216 | 61T 1’9 |zese'o |ozes |esTr'2 |0°205°T |56€0'T [2'568 |0'89T | vTv | 8T |[¥99 | 0 912 66-dos
0989 | L0o9z | zo | €0 |ov | sz ezt | vo |eor |€29 825 |Tse | 611 1’9 |es19'9 |8'80e |z'ssS'e |G8ev'T |vve0'T [6€26 |L26T |6 | 8T [9€6 | 05 9Tz 66-ung
L152'9 | 9esz | zo | €0 | 6€ | vz |[69r | vo | Tor |889 |[ess |9vo | oer 1’9 |18er'e |6'€Te |5595T |8 Tr'T |#'z20'T [s006 |oasT | sez | 8T |oTir | TS 912 66-1eN
18508 | evvz | zo | €0 | 6€ | gz |99t | v9 |esT |€69 |685 |815 | 8711 99 |vvT8s |T'96T |8'SrT'e |TTH8'T |#'e2T'T [T'e90T|5802 | 9Tz | 8T |[eo9eT | TS 9Tz 86-290
€89z'9 | T2tz | zo | €0 | 8e | sz 1ot | vo |gsT |899 |zss |69z | st 99 |z9so'9 |00 |69see |8 815 T |0ces |e2z8 |Lv8T |00 8T |69sT| TS LT 86-dos
v'se0'9 | 666T | 20 | €0 | ze | sz |zsT | g9 | TSt |e99 |ses |siT | 2TT 99 |gses's |00 |eoese|89zr'T|s098 [o9v8 [s6.T |00 6T |9€9T| TS 8Tz 86-ung
SNIOD sul0d Se10N

any | el | or oz o5 | 201 | 20z | o5z | 205 | 1oy | sy |orsy aAnesow | e10L 000z SH|000T S [ 005 SY |00zsY |ooT Sy |0ssd [szsy |ozsy |orsy | gsy | Aousmunp | yiuow
S3LON plo9  [-awwod pazilpuowaq | 4o

IVLOL SNIOD SILONYINVE pu3

(ol sy)

G00Z [14dV - 866T aune :uolenalD ul Aouaiind 8T a|qel

27




